

So

$$J = \begin{bmatrix} 2x_1 & 2x_2 \\ -\cos(x_1) & 1 \end{bmatrix}$$

$$\begin{bmatrix} a & b \\ c & d \end{bmatrix}^{-1} = \frac{1}{ad - bc} \begin{bmatrix} d & -b \\ -c & a \end{bmatrix}$$

$$J^{-1} = \frac{1}{2x_1 + 2x_2 \cos(x_1)} \begin{bmatrix} 1 & -2x_2 \\ \cos(x_1) & 2x_1 \end{bmatrix}$$

The newton iteration is:

$$\begin{pmatrix} x_{1,n+1} \\ x_{2,n+1} \end{pmatrix} = \begin{pmatrix} x_{1,n} \\ x_{2,n} \end{pmatrix} - \frac{1}{2x_1 + 2x_2 \cos(x_1)} \begin{bmatrix} 1 & -2x_2 \\ \cos x_1 & 2x_1 \end{bmatrix} \begin{bmatrix} x_{1,n}^2 + x_{2,n}^2 - 1 \\ x_{2,n} \sin(x_{1,n}) \end{bmatrix}$$

~~Qplc~~

Optimization Problems:

- You want to find minimum or maximum of $F(x)$.
- We know min or max of $F(x)$ are roots of $F'(x)$
- So if we replace $f(x)$ by $F'(x)$ in the above $(F'(x)=0)$ three methods, we can find min or max of $F(x)$.

So Newton's method becomes.

$$x_{n+1} = x_n - \frac{F'(x_n)}{F''(x_n)} \quad (\text{for single variable})$$

Compare with $x_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}$

For multiple variables (replace $f(x)$ with $\nabla F(x)$)

$$\underline{x}_{n+1} = \underline{x}_n - \left[\nabla \nabla f(\underline{x}_n) \right]^{-1} \nabla F(\underline{x}_n)$$

$$= \underline{x}_n - \left[\nabla^2 F(\underline{x}_n) \right]^{-1} \nabla F(\underline{x}_n)$$

$$(\nabla \nabla F)_{ij} = \frac{\partial^2 F}{\partial x_i \partial x_j}$$

Note: $\underline{x}_{n+1} = \underline{x}_n - \alpha \nabla F(\underline{x}_n)$ is called gradient descent (GD)

- α is a small scalar
- GD is slower than Newton's method.

Ex: Consider

$$F(x_1, x_2) = x_1^2 + (\log x_2)^2 \quad x_1 \in \mathbb{R}, x_2 > 0$$

$$\nabla F = \begin{pmatrix} \frac{\partial F}{\partial x_1} \\ \frac{\partial F}{\partial x_2} \end{pmatrix} = \begin{pmatrix} 2x_1 \\ \frac{2 \log x_2}{x_2} \end{pmatrix}$$

$$\nabla \nabla F = \begin{pmatrix} \frac{\partial^2 F}{\partial x_1^2} & \frac{\partial^2 F}{\partial x_1 \partial x_2} \\ \frac{\partial^2 F}{\partial x_2 \partial x_1} & \frac{\partial^2 F}{\partial x_2^2} \end{pmatrix} = \begin{pmatrix} 2 & 0 \\ 0 & \frac{2 - 2 \log x_2}{x_2^2} \end{pmatrix}$$

$$(\nabla \nabla F)^{-1} = \frac{1}{2 \cdot \frac{2 - 2 \log x_2}{x_2^2}} \begin{bmatrix} \frac{2 - 2 \log x_2}{x_2^2} & 0 \\ 0 & 2 \end{bmatrix}$$

$$= \begin{bmatrix} \frac{1}{2} & 0 \\ 0 & \frac{x_2^2}{2 - 2 \log x_2} \end{bmatrix}$$

Newton's iteration is:

$$\begin{pmatrix} x_{1,n+1} \\ x_{2,n+1} \end{pmatrix} = \begin{pmatrix} x_{1,n} \\ x_{2,n} \end{pmatrix} - \begin{pmatrix} \frac{1}{2} & 0 \\ 0 & \frac{x_{2,n}^2}{2 - 2 \log x_{2,n}} \end{pmatrix} \begin{pmatrix} 2x_{1,n} \\ 2 \cdot \frac{\log x_{2,n}}{x_{2,n}} \end{pmatrix}$$